
� No.252Q余両方-5-1 �

No.252Q余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 256.4÷ 0.5 (2) 3.599÷ 0.09

(3) 3.733÷ 0.04 (4) 319.6÷ 0.4

(5) 11.24÷ 0.2

� 13th-note �



� No.252Q余両方-5-1 �

No.252Q余両方-5-1 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 256.4÷ 0.5

512.8

(2) 3.599÷ 0.09

39.98 · · · 0.0008

(3) 3.733÷ 0.04

93.32 · · · 0.0002

(4) 319.6÷ 0.4

799

(5) 11.24÷ 0.2

56.2

� 13th-note �



� No.252Q余両方-5-2 �

No.252Q余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 6742÷ 0.8 (2) 23.97÷ 0.8

(3) 4.652÷ 0.09 (4) 133.8÷ 0.4

(5) 8.32÷ 0.02

� 13th-note �



� No.252Q余両方-5-2 �

No.252Q余両方-5-2 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 6742÷ 0.8

8427 · · · 0.4

(2) 23.97÷ 0.8

29.96 · · · 0.002

(3) 4.652÷ 0.09

51.68 · · · 0.0008

(4) 133.8÷ 0.4

334.5

(5) 8.32÷ 0.02

416

� 13th-note �



� No.252Q余両方-5-3 �

No.252Q余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 339.2÷ 0.8 (2) 1372÷ 0.3

(3) 6.59÷ 0.3 (4) 41.47÷ 0.5

(5) 751.7÷ 0.09

� 13th-note �



� No.252Q余両方-5-3 �

No.252Q余両方-5-3 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 339.2÷ 0.8

424

(2) 1372÷ 0.3

4573 · · · 0.1

(3) 6.59÷ 0.3

21.96 · · · 0.002

(4) 41.47÷ 0.5

82.94

(5) 751.7÷ 0.09

8352 · · · 0.02

� 13th-note �



� No.252Q余両方-5-4 �

No.252Q余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 900÷ 0.7 (2) 310.8÷ 0.6

(3) 7313÷ 0.8 (4) 385÷ 0.4

(5) 707.9÷ 0.08

� 13th-note �



� No.252Q余両方-5-4 �

No.252Q余両方-5-4 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 900÷ 0.7

1285 · · · 0.5

(2) 310.8÷ 0.6

518

(3) 7313÷ 0.8

9141 · · · 0.2

(4) 385÷ 0.4

962.5

(5) 707.9÷ 0.08

8848 · · · 0.06

� 13th-note �



� No.252Q余両方-5-5 �

No.252Q余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 37.98÷ 0.08 (2) 17.33÷ 0.4

(3) 31.72÷ 0.07 (4) 402.2÷ 0.9

(5) 287.6÷ 0.03

� 13th-note �



� No.252Q余両方-5-5 �

No.252Q余両方-5-5 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 37.98÷ 0.08

474.7 · · · 0.004

(2) 17.33÷ 0.4

43.32 · · · 0.002

(3) 31.72÷ 0.07

453.1 · · · 0.003

(4) 402.2÷ 0.9

446.8 · · · 0.08

(5) 287.6÷ 0.03

9586 · · · 0.02

� 13th-note �



� No.252Q余両方-5-6 �

No.252Q余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 271.4÷ 0.05 (2) 253.9÷ 0.7

(3) 68.09÷ 0.7 (4) 383.9÷ 0.5

(5) 59.09÷ 0.06

� 13th-note �



� No.252Q余両方-5-6 �

No.252Q余両方-5-6 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 271.4÷ 0.05

5428

(2) 253.9÷ 0.7

362.7 · · · 0.01

(3) 68.09÷ 0.7

97.27 · · · 0.001

(4) 383.9÷ 0.5

767.8

(5) 59.09÷ 0.06

984.8 · · · 0.002

� 13th-note �



� No.252Q余両方-5-7 �

No.252Q余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 103.1÷ 0.02 (2) 201.5÷ 0.3

(3) 32.09÷ 0.06 (4) 254.5÷ 0.03

(5) 412.4÷ 0.09

� 13th-note �



� No.252Q余両方-5-7 �

No.252Q余両方-5-7 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 103.1÷ 0.02

5155

(2) 201.5÷ 0.3

671.6 · · · 0.02

(3) 32.09÷ 0.06

534.8 · · · 0.002

(4) 254.5÷ 0.03

8483 · · · 0.01

(5) 412.4÷ 0.09

4582 · · · 0.02

� 13th-note �



� No.252Q余両方-5-8 �

No.252Q余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 114.1÷ 0.4 (2) 36.42÷ 0.05

(3) 328.7÷ 0.4 (4) 179.9÷ 0.02

(5) 3.285÷ 0.07

� 13th-note �



� No.252Q余両方-5-8 �

No.252Q余両方-5-8 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 114.1÷ 0.4

285.2 · · · 0.02

(2) 36.42÷ 0.05

728.4

(3) 328.7÷ 0.4

821.7 · · · 0.02

(4) 179.9÷ 0.02

8995

(5) 3.285÷ 0.07

46.92 · · · 0.0006

� 13th-note �



� No.252Q余両方-5-9 �

No.252Q余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 428.9÷ 0.9 (2) 78.5÷ 0.3

(3) 144.6÷ 0.04 (4) 2.96÷ 0.2

(5) 11.32÷ 0.06

� 13th-note �



� No.252Q余両方-5-9 �

No.252Q余両方-5-9 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 428.9÷ 0.9

476.5 · · · 0.05

(2) 78.5÷ 0.3

261.6 · · · 0.02

(3) 144.6÷ 0.04

3615

(4) 2.96÷ 0.2

14.8

(5) 11.32÷ 0.06

188.6 · · · 0.004

� 13th-note �



� No.252Q余両方-5-10 �

No.252Q余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 829.2÷ 0.9 (2) 1447÷ 0.3

(3) 10.03÷ 0.08 (4) 6.635÷ 0.07

(5) 610.8÷ 0.8

� 13th-note �



� No.252Q余両方-5-10 �

No.252Q余両方-5-10 （ 点） （ 分 秒）

商を上から 4けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 829.2÷ 0.9

921.3 · · · 0.03

(2) 1447÷ 0.3

4823 · · · 0.1

(3) 10.03÷ 0.08

125.3 · · · 0.006

(4) 6.635÷ 0.07

94.78 · · · 0.0004

(5) 610.8÷ 0.8

763.5

� 13th-note �


